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SEHET MLE LA FEA 5 = B/a KR (EF [[:{iv2
SHEE 1-2 2-2 1-4 1 4 8 -4 3
MLE 2-1 2-0 0-9 6 4 10 -6 2
A 2-2 0-2 0-5 1 2 9 -7 4
hEA 5-0 9-0 4-1 9 18 1 17 1
Bk | KBE | EHB HEB | BbaA BA e BrE N4
B K 3-4 0-1 8-0 3 11 5 6 3
xB& 4-3 4-1 10-0 9 18 4 14 1
#=WB 1-0 1-4 6-1 6 8 5 3 2
hEB 0-8 0-10 1-6 0 1 24 -23 4
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g HT 5-2 2-8 0-2 3 7 12 -5 3
BRIM 2-5 0-7 1-2 3 14 -11 4
N=I 8-2 7-0 7-1 9 22 3 19 1
h & 2-0 2-1 1-7 6 5 8 -3 2
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Izl)—R 2-4 0-1 1-2 0 3 7 -4 4
TooT7Al 42 4-0 0-1 8 3 5 2
iz 1-0 0-4 0-6 3 1 10 -9 3
SHEET 2-1 1-0 6-0 9 9 1 8 1
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